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Q.No. 26 * DUBIOUS
(A) Clear. (B) Undoubtedly
(C) Hesittant (D)  Doubtful
Q.No. 27  ABSTAIN
(A) Stay (B) Tempt
(C) Refrain. (D) Pardon.
Q.No. 28 ¢ INDIFFERENT
{A) Curious (B) Vaned
(C) Alike (D) Uniform
Q.No. 29 * TIDY
(A) Wise (B) Diplomatic
(C) Prudent. (D) Careless
Q.No. 30 * Which of the following pairs is correctly matched ?
(A) Index - Indexes. (B) Radius - Radiuses

(C) Formula- Formulaec (D) Data - Datas

Q.No.31 * His directions mislead us, we did not know
which of the two roads to take.
(A) complicated (B) ambiguous
(C) narrow (D)  fantastic.
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- The passengers were afraid but the captain them

that there was no danger.

(A) promised (B) assured
(C) advised (D) counseled
- 1 shall take revenge you.
(A) from (B) with
(C) on (D) at
+ A person who speaks many languages
(A) Linguist (B) Monolingual
(C) Polyglot (D) Bihngual

. The following sentence contains some error indicate the

part having it. Which is that?
We have received no informations from the headquarters.

(A) We (B) have recetved

(C) no informattons (D) from the headquarters.
: Choose correct alternative.

He is weak to carry the heavy box.

(A) very (B much

(C) so (D) too

. Select the most suitable word

The aeroplane was ready to take --------
(A) off (B) over
(C) up (D) away

© Fill the correct alternative.

He is well versed in the rule of

(A) gramer (B) grammar

(C) grammer (D) garammar
. Choose the correct meaning : ‘Face the music”

(A) work overtime (B) sing asong

(C) give aparty (D) bear the consequences.
. Out of the alternatives given below choose the correct

prefix.

‘responsible’

(A) non (B) un

(C) ir (D) dis
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(A) world wide web (B) world width web

(C) world with web (D) wide world web
* Hard Disc & &7 2T& ?

(A) software (B) storage device

(C) RAM (D) CPU

- STesred Tl - a7 ST A ?

(A) 256 kbps ™ 30 gbps  (B) 264 kbps T 30 gbps
(C) 256 mbps @ 30 gbps (D) 264 mbps & 30 gbps

. ~

© e WU % ?

(A) A collection of computers within one company use
for communication and data exchange.
(B) The largest communication network in the world.

(C) A communication device within pentium computers
that speeds data excess.

(D) One of the parts of a network design to prevent
system crashes.

* In MS Word to insert a row in table following method is

used?
(A) Select ‘tools’ select ‘tables’ select ‘insert row’
(B) Select the ‘entire row’, select ‘table’, select ‘insert

*

row
(C) Select the ‘cell’, select ‘insert’, select ‘row’

(D) Select the entire table, select ‘table’, select “add row’

+ In MS Excel pressing the ‘Tab’ key moves a cell pointer

from :
(A) Top to bottom (B) Left toright
(C) Bottom to top (D) Right to left
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(A) Anoperating system  (B) A programming
language
(C) Aninternet browser (D) A software
development package
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(A) zed (B) e
€) %2 (D) ufeEr
Q.No. 61 ° Software used to interact between user programmes and

computer is called :
(A) Application Software (B) System Software

(C) Operation Software (D)  Custom Software
UTA 3. 62 GIOmhAed 'Sl 81 YISSENT SR guiiaar ?

(A) Unprocessed facts and figures

(B) The output of a computer

(C) Facts that have been processed into a more usable
form
(D) The process of compute
Q.No. 63 * In MS Excel the work book created has the default
extension of
(A) .xls file extention (B) .bmp file extention

(C) .prj file extention (D) .exe file extention




Q.No. 64  Flopy disk, optical disks, DVD’s and hard drives are all
examples of :

(A) Removable media (B) Primary storage or
mMemory
(C) Secondary storage (D) CPU
Q.No. 65 ° To create a text document (With the extension .txt) we have
to use the programme
(A) Paint (B) Notepad
(C) Excel (D) Coral draw
Q.No. 66 ° A contents icon button that access frequently use
commands
(A) Menubar (B) Toolbar
(C) Taskbar (D) Function keys

Q.No. 67 * The input devices are
(A) A mouse & keyboard (B) Printer & Moniter

(C) Microprocessor & (D) Hard disc & CD
memory
Q.No. 68 ° The devices used to convert electronic signals from the
computer into electronic signals that can travel over a
telephone line

(A) Translater (B) Converter
(C) Modem (D) [LAN cable
Q.No. 69 ° The keyboard key like ‘caps lock’ that turn a feature on or
off is called
(A) Function key (B) Special purpose key
(C) Toggle key (D) Combination key
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